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Range of the sine function is

a) {x|-1<x>1}
b) {x|-1<x<1}

?

d) R-{xx=nmnOZz}
e) R—{x|—1< x<]}

c) {x[0 x>1} The domain of cotx is
d) {x<1}
e) None of these a) [-1, 1]
R
The domain of sinx is T
R - {x|x=(2n+1)E ,nDZ}
a) [-1,1]
b) R R~{x|x=nmnOZz}

C) R-{x|x:(2n+1)g,nDZ}
d) R—{x|x:nﬂ,nDZ}
e) R—{x|—1<x<]}

Range of the cosine function is =
?

a) {x|-1<x>1}
b) {x|-1<x<1}

R—{x|—l< x<:I}
The domain of secx is

a) [-1, 1]
b) R

c) R-{x|x=(2n+1)’—27,nmz}
d) R—{x|x=nﬂ,nDZ}
e) R—{x|—1<x<]}

c) {x|0 x>1}

d) {x>1}

e) None of these The domain of cscx is

The domain of the cosx is a) [-1, 1]
b) R

a) [-1, 1] { _ T }
C) R-<x|x=(2n+1)—,n00Z

b) R ) [x=(2n+2)7

c) R- {x|x:(2n+1)g,nDZ}

d) R—{x|x: nﬂ,nDZ}
e) R—{x|—1< x<]}

d) R-{xx=nmnOZz}
e) R—{x|—l< x<:|}

The range of sinx is

The domain of tanx is a) [-1, 1]
b) R
g; é—l, ! 9) R-{x|x=(2n+1)7—27,nmz}

c) R- {X|x:(2n+1)g,nDZ}

d) R—{x|x= nﬂ,nDZ}
e) R—{x|—1< x<]}



MCQs - Ch # 11: F.ScPart 1

10.

11.

12.

13.

14.
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The range of cosx is

a) [-1, 1]
b) R

c) R- {x|x:(2n+1)g,nDZ}

d) R-{x|x=nmn0Z}
e) R—{x|—1< x<]}
The range of tanx is

a) [-1, 1]
b) R

)R -{x|x:(2n+1)7—2T,nDZ}

d) R—{x|x:nﬂ,nDZ}
e) R—{x|—1< x<]}
The range of cotx is

a) [-1, 1]
b) R

)R- {x|x:(2n+1)g,nDZ}

d) R~{x|x=nmn0Z}
e) R—{x|—l< x<:|}
The range of secx is

a) [-1, 1]
b) R

)R -{x|x:(2n+1)7—2T,nDZ}

d) R—{x|x:nﬂ,nDZ}
e) R—{x|—l< x<:|}
The range of csc x is

a) [-1, 1]
b) R

)R- {x|x:(2n+1)g,nDZ}

d) R~{x|x=nmn0Z}
e) R—{x|—1< x<]}

15.

16.

17.

18.

19.

A function f(x) is said to be the periodic
function if, for all x in the domain of f,
here exists a smallest positive number p
such that f(x + p) =

a) f(p)
b) f(x)
c) 0

d P
e) X+p

If, for all x in the domain of f, there exists
a smallest positive number p such that
f(x + p) = f(x), then p is the

a) period of f

b) period of 2f
c) period of 3f
d) period of 4f
e) none of these

The period of sinx is

The period of tanx is

T
a) —
)3

http://www.MathCity.org



MCQs - Ch # 11: F.Sc Part 1

20.

21.

22.

23.

24,

d) 7
e) 2t

The period of cotx is

a)

NIy wly

b)

27T
C_
)3

d)
e) 2ir

The period of sec x is

a)

NIy wly

b)

217
C_
)3

d) T
e) 2t

The period of cosec x is

a)

Ny Wiy

b)

27T
C_
)3

d) 7
e) 2t

The period of sin2x is

a)

NIy wly

b)

27T
C_
)3

d)
e) 2ir

The period of cos2x is
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25.

26.

27.

28.

C)2_7T

d) 7
e) 217

w

The period of cot2x is

a)

b)

NIy wly

C)2_7T

d) 7
e) 2ir

w

The period of sec2x is
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29.

30.

31.

32.

33.

27T
C_
)3

d) 7
e) 2ir

The period of sin3x is

a)

b)

NIy wly

217
C_
)3

d)
e) 2ir

The period of cos7x is

The period of cosg is

a) 71

b) 2
c) 3
d) 4mr
e) 677

The period of taFg IS

a) T

b) 21
c) 3
d)4m
e) 6rr

The period of co{g is

a) T
b) 21
c) 3
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34.

35.

36.

37.

38.

d) 4
e) 677

The period of secg IS

a) 71

b) 2
c) 3t
d) 4
e) 677

The period of cot3x is

The period of tan 3x is

T
a) —
)3

The period of 3ta§ IS

a) 71

b) 2
c) 3t
d) 4mr
e) 677

The period of SSeé IS

a) T

b) 2
c) 3rr
d) 4
e) 677
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X 40. the period of 1505é IS
39. The period of 15cs<§ is >

a) 157
a) T b) 107
b) 2 c) 5m
c) 3rr d 2m
d)4m e) T

e) 677
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